Question
A is inversely proportional to k x
B, when A=5,B = 6. A=— mHm so k=30
Find A when B = 10. B
(a) yis inversely proportional F —U. = Pﬁ..
to x, when y =12,x = 5. = — U
Find y when x = 4. = & k.= 60
(b) N is inversely proportional Z . k. D5 n...U = PMI
toL, when N =2.5, L =8. T m
Find N when L = 4. L— I = S1)
(c) yis inversely proportional 2kl 5 = ,Iﬂ.. el T @ =
to x. If y =5 when x = 8, find /&t — < |.U| 20O
y when x = 20 oC kK=<1O = =i
(d) A is inversely proportional | (e) his inversely proportional (f) y is inversely proportional (g) y is inversely proportional
to B and when A =12,B = 3. toV and h =36 when V = 8. to x, and y = 0.2 when x = 5. to x. When x = 2,y = 64.
Find A when B = 10 Find h when V = 20 Find x when y = 25 Find x when y = 80.
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